5%#8 / External View

®MAZ / Components

| (x®&% : TY-34)2008.02.08

JLE / Self-adhesive rubber feet

No. &# / Part name BE / Pcs & / Material & . ZEAE / Color- Finish
1 iR 2 W ABS UL9LV-0 JguL— ,7TIv 7
Side plate ABS UL94V-0 Gray , Black
2 JoOoY bIL—-L 1 7V 2B YNWN=FWIA b, TIv77NW34+
Front frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
3 I NVEWA 1 7 W IR YNWAR=FWIA L, TIv27h34
Rear frame Extruded aluminium A6063S-T5 Silver anodized , Black anodized
L NXRAB AR/ Slide panel 1 7 31 A100P 15 YNWA=FNZIA L, TIy 8%
Aliminium A1100P 1.5 Silver anodized , Black Painfed
5 XYIEHAZL / Screwed panel 1 7 28 A1100P t1.5 YNWR=FWIA b+, Toy /8%
Aliminium A100P 1.5 Silver anodized , Black Painted
6 mffE (M M3 x 10) 8 3 =EE&s0x— b
Screw(Countersunk M3 - 10) Steel Black trivalent chromate
7 mffC A (EfAMD M3 x 5) A sk vy Avx | ZHEEsO0x— b
Screw(Slotted raised countersunk M3 - 5) Steel Nickel plated , Black trivalent chromate
8 JLRE / Rubber feet A &M 3L / Rubber 79wy 2 / Black
Bk EEXRED) / Color TypelEnd of product numberOd)
2% / (ode filf&z / Side plate JU—=L-/X) / Frame- Panel
- o GS 7L — / Gray Y N— / Silver
i i BB 735y & / Black 77v % / Black
| |
| |
| |
] ] i
LN
(e
]l O
70
[l B
2 i @ q ® @ D=
i B

B hFEHTE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

Eay tO-LHy— A
SLOPED ENCLOSURE

O ]

IR

K /Approved | RE /Checked

[ A

#M/Created |H%& /Product number RE/Scale1l2
. CF7-10O '
vl 3
{ERA /Date 2020/2/18




R / Internal View

B VAN RS

oL wip 13ued pARIDS  F

| (x®&% : TY-34)2008.02.08

S ( - |
[y

A¥~t%E / Max dim

. 57 o 30
v
X
r— - o >., (2 [
1o o1 = z i i
= f
S <
< o
= B
~ ~~
x
I zal B I ]
L| al % Va w7
=
2DV (RTR) 3 INAAHINRIL (RER)
Screwed panel (Internal View) 2
ul

Slide panel (Internal View)

(Tt )
————r———
13

] R% /Title
BARISHFRBTE EHaY bO- 17— 2 O
TAKACHI ELECTRONICS ENCLOSURE Co., LTD. SLOPED ENCLOSURE
K /Approved | IRE/Checked | #E/Created |Z% /Product number RE/Scale1l2
\ CF7-110 '
=ep 17} N vell 2/ 3
{EfXB /Date 2020/2/18




21/ )L / Screwed panel

56.8

95.3

/INA)LERM / Panel Frontside

15

INAIAFHINLRIL / Slide panel

57

95.4

/N2 JLERME / Panel Frontside

1.5

®L.7

REY — M

Surface protfective film side

REY — M

Surface protfective film side

| (x®&% : TY-34)2008.02.08

N JLEM / Panel Backside

INAJLEM / Panel Backside

MRARHIHFERITE

TAKACHI ELECTRONICS ENCLOSURE Co., LTD.

& /Title

Eay tO-LHy— A
SLOPED ENCLOSURE

O ]

&8 /Approved

AT

12X /Checked

[ A

8IM /Created

iR

3% /Product number
CF7-10O

RE /Scale
1.2

{EfB /Date 2020/2/18

3/3




	CF7-11
	CF7-11 Model (1)
	CF7-11 Model (2)

